
Esercizio 1 

 

F = 35400 N   P = 8,85 106 W (erogata all’aereo, altri 5,97 106 W nei gas di scarico) 
 

Esercizio 2 

 

L = −
𝑚

𝑀+𝑚
 L’       F = −

𝑚𝑀

𝑀+𝑚

𝑑𝐕′(𝑡)

𝑑𝑡
 

 

Esercizio 3 

 

PX = m cos() √𝑔 𝑠𝑖𝑛(𝛼) (2𝑙0 +
𝑚𝑔

𝐾
𝑠𝑖𝑛⁡(𝛼)) 

lMAX = 
𝑚𝑔

𝐾
⁡𝑠𝑖𝑛(𝛼) + √

𝑚(𝑚⁡𝑠𝑖𝑛2(𝛼)+𝑀)𝑔⁡𝑠𝑖𝑛⁡(𝛼)

𝐾(𝑚+𝑀)
(2𝑙0 +

𝑚𝑔

𝐾
𝑠𝑖𝑛⁡(𝛼)) 

 

Esercizio 4 

 

lMAX = 
𝑀

𝑏

𝑚𝑉0𝑐𝑜𝑠⁡(𝛼)

(𝑚+𝑀)
 

 

Esercizio 5 

 

h = 
𝑣2

2𝑔

𝑀

(𝑚+𝑀)
 

 

Esercizio 6 

 

√10𝜇𝐷𝑔𝐷 < V0 < √28𝜇𝐷𝑔𝐷 

 

Esercizio 7 

 

0, /2, 0, 0 

 

Esercizio 8 

 

𝑚𝑖 = √𝑚𝑖−1𝑚𝑖+1 

 

Esercizio 9 

 

V1 = 
𝑣

2
 (1 − √1 − 2𝜇)  0,05 m/s nello stesso verso di prima dell’urto 

 

Esercizio 10 

 

K/K = - 40% 

 

 



Esercizio 11 

 

MAX = arc sin (m2/m1) 

 

Esercizio 12 

 

 = arc tan (√1 +
𝑔2𝐷2

4𝑉0𝑋
4 )  65,9° 

 

Esercizio 13 

 

V1 = V0 √1 −
𝑅2

𝐷2 

 

Esercizio 14 

 

Vn = m u ∑
1

[𝑀−(𝑘−1)𝑚]
𝑛
𝑘=1  

 

Esercizio 15 

 

Forza peso N = 
3

2
 
𝑚𝑔2𝑡2

𝐿
 

 

Esercizio 16 

 

XMAX = √
𝑚𝑔𝐻𝐿

2𝑇
  ≈ 1 cm 

 

Esercizio 17 

 

𝛽 =
5

12
𝜋 −

1

2
𝑎𝑟𝑐𝑠𝑖𝑛 (

𝑚2

2𝑚1
) 

 

Esercizio 18 

 

𝐼 = √
2𝑔𝐿𝑚2

2(𝑚1 +𝑚2)

𝑚1
 

 

Esercizio 19 

 

𝑥 = 𝑑
𝑀

(𝑀 +𝑚)
 


